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RAPPEL : (ln x)’ = 1x  [ln u(x)]’ = u’(x)u(x)  avec u(x) > 0 

 
 Dans chaque cas, déterminer la dérivée de la fonction f définie et dérivable sur I : 

a. f(x) = ln (4x + 5) I = ] -5
4

 ; +∞[ b. f(x) = ln (3 – 2x) I = ]-∞ ; 3
2

 [  

c. f(x) = ln (x² + 3x + 4) I = Y d. f(x) = ln (sin x) I = ]0 ; π[ 

e. f(x) = ln (x – 1) I = ]1 ; +∞[ f. f(x) = ln (2x² – 3x + 2) I = Y 

g. f(x) = ln x + 1
x  I = ]0 ; +∞[ h. f(x) = ln 2x + 3

x + 1
 I = ]-1 ; +∞[ 

i.  f(x) = ln x² + x + 1
x + 1

 I = ]-1 ; +∞[ j. f(x) = ln x I = ]0 ; +∞[ 

 


